
yl =

 1 if l ∈ Y (x)
−1 if l 6∈ Y (x)

for l ∈ Y (1)

There is a weight wil for each example i and each label l ∈ Y
Algorithm AdaBoost.MH

Input M , labeled training set D
Initialize f = 0

w1
il = 1

NL

for k = 1, 2, . . .M
learn classifier bkl on D with weights wk

il predict label yl, l = 1 : L
evaluate error rk =

∑N
i=1

∑L
l=1w

k
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i
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k
l (xi)

calculate εk = 1−rk
2 , βk = 1

2 ln 1−εk
εk

compute new weights wk+1
il = 1

Zkw
k
ile
−yilbkl (xi) and normalize them to sum to 1

Output f(x) = [fl(x)]l∈Y = [
∑M

k=1 b
k
l (x)]l∈Y


